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{4 a)  Whar g functional dependency? Explain its use urdatabase design, 9]
Congider the following schema. o f
Student (RollNo, Branch_code, ]"L"Iﬂﬂfﬁ_ﬁfm.lﬂl-ﬂﬂd‘ Fxam Name,
Total Marks) o
ladentily the funelional L|L:DL.‘-IIIL|ULLLLJI.E§5.'-H.liL‘I ek wehether the iven sclemsa
is in AMF or not. If not justify anth-gomait the schema into 3NE
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by Explain following Codd™s sabesavithiguitable examples: 18]
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(02) a)  Whaut is thedmpycl of inserl, updute & delele EIllUlItH,_l':,-‘I_:!;_'ﬂ-l oversll design
ot database? T—ln::? normalization 1= uscd rc1t1{11.-'::_'1‘ﬁg:m: anamalics? [8]

h)]  What is decownposition? Consider the relationF {FN,}_T."T';I: {7 Thiwith the
Follaew iz Functional Dependeneies: 4 - 19]
BD | FN, PN =0
EDZAC =0
3 1) = F :
L 15 decomposed in 1o V1 {FNPNOY and 12 (€0, check
decomposition 15 lossless or lossy? Ny

T2



SPPU-TE-COMP-CONTENT - KSKA Git

03 )

b

Q) a)

Iy

{25} u)
by

What iz recoverable schedule™Why 15 recoverahility of schedule
desiruble? Are there any circumstanee under Which il could be desirable
tor allow non recoverahle schednlar? Fxplain vour answer. [

State el eaplaimibd ACILY properties, During ils execution o ransaction
passes through severalstates, until it finally commits or abores. Listall
pessible sequinves.ol slales threugh which o transaction may, puss.
Fxplain the.situatins when each state transition nceours. [9]

R
= "
Wiat i R-timestamp (O} and W-timestamp(}), E¥plain 1he necessary
condition used by time stamp ordering _profscol to execute for a
rogdiwrite operation. & %]

What iz conflict serializability ¥ Clyeel: fadlonwing schedule is conflict
serializable ornot? Also, -..:r;pLim l.hc:'q;um_ epl ol conflict cguvalent

stchedule, e s |9
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B{X) dendtes read operation on data iten X by trafisagiion Ti
Wi X Pdenotes read operation on data item ?::--b*.:-Trﬂuﬁd'cTir_un i,

Listthe different NOSOL dats mode]s. E xphnn denment store NOSOL

data model with crample. |8

Wraw and explain architecture of Distrilfured, :I:mh:lse gyvstem. Stare the

reazons for hutlding distnbuted database systems. [9]
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Explan Structured, Semi-structared and Unstructured data types with

exurmplis. ; |1}
Drescribe the fullowing epetatiois with Maongal 23 svnlas: | &
1} Map-Reduce i) Aggrepation pipeline

What s the s gntﬁmm e of XML datubases? Explain with proper example

when o use ML database. | 4]
Laplain how escociie and decoding ol 50N abject is done JAYA with
expmple, Ny ~n [9]
R

Writea short note on complex data ovpes: iy [9]
i} Semissiroelured daly "

il Lgalures ol seri-structured data models ]

. !
o
What is Deductive Database. Fxplaifiits featiures and state its
“advantimges over raditional databrse, 5y |9
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